[bookmark: _GoBack]A Chi-squared test was completed to determine how long it took the child/children and other members and no other members in each household to complete the activity. The dependent variable in the Stress Balloon Activity is, “How long did it take you and your child/children to complete the activity?” The answers were a. 0-10 minutes, b. 11-20 minutes, c. 21-30 minutes, and d. longer than 30 minutes. Table 1 below has combined A and B and C and D. They were put into two groups because the independent variable had two groups. The independent variable is, “Did anyone else living in your household participate in any other activities?” The answers were 1. Yes and 2. No. Also, shown in Table 1 is the calculated p-value which is .6878 which is greater than .05. This tells us that therefore, there is no significant difference between the observed versus the expected frequencies. 

Table 1
Pearson’s Chi squared Test Results
                                   Other Members          No Other Members            ƛ^2            p-value
20 mins or less                         8                                  4                           5.6             .6878                        

21 mins or more                     19                                 8
Note: p<.05*, p<.01**, p<.001***, df=8

